
4732418 - Empty Trolley S9

e q u i p m e n t

S9 big drawer w/s RAL7011 flat

47517 - S9 small drawer RAL7011 flat

47215 - Left drawer rall

47574 - S9 Left bumper (front or back)

324008 - Washer

324005 - Spring washer(Ø8)

321024 - Bolts(M8x20)
47209S - Swivel caster

47209F - Fix caster

47519 - S9/S12 Canholder RAL7011 wrinkle 

321043 - Bolts M6x12

47214 - Lock & Key
47210 - Key
Key No.-0001-0150

47216- Right drawer rall

306124 - Side Handle

47522 - S9/S12 Paper holder RAL7011 wrinkle

47575 - S9 Right bumper (front or back)

4732418-8Ds S9 trolley RAL7011 wrinkle 

320174 - Bolts M6x16

323015 -Nuts

321211 - Bolts M6x20

47572 - S9 top plastic cover (left or right)




